@ Wie viel ist es insgesamt (bis 1 000)?
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Aufgabe 1 Aufgabe 2

1. 400+50+8 = 1. 300+60+2 o
2. 800+40+9 = 2. 600+80+6 o
3. 800+50+5 = 3. 400+10+9 =
4. 300+90+7 = 4. 300+60+3 =
5. 800+60+56 = 5. 600+50+3 =
6. 400+60+3 = 6. 700+30+6 o
7. 600+10+6 = 7. 100+50 + 4 o
8. 700+30+9 = 8. 600+40+3 =
9. 100+60+9 = 9. 600+90+1 =
10. 600+80+8 = 10. 200+80+79 o
Aufgabe 3 Aufgabe 4

1. 800+70+56 = 1. 300+40+5 o
2. 700+90+3 = 2. 700+10+8 =
3. 500+20+6 = 3. 300+40+1 =
4. 900+30+1 i 4. 700+30+1 =
5 300+40+4 = 5 700+40+8 o
6. 700+ 50+ 1 = 6. 100+20+6 o
7. 100+20+6 = 7. 100+ 40 +3 =
8. 600+80+6 = 8. 500+80+3 i
9. 300+90+3 = 9. 200+40+8 o
10. 600+80+9 = 10. 700+10+1 o
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Wie viel ist es insgesamt (bis 1 000)? | ANTWORTEN
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Aufgabe 1 Aufgabe 2
1. 400+50+8 = 458 1. 300+60+2 = 362
2. 800+40+9 = 849 2. 600+80+6 = 686
3. 800+50+5 = 855 3. 400+10+9 = 419
4. 300+90+7 = 397 4. 300+60+3 = 363
5 800+60+6 = 866 5 600+50+3 = 653
6. 400+60+3 = 463 6. F00+30+6 = 736
7. 600+10+6 = 616 7. 100 +50 + 4 = 154
8. 700+30+9 = 739 8. 600+40+3 = 643
9. 100+ 60+9 = 169 9. 600+ 90+ 1 = 691
10. 600+ 80+ 8 = 688 10. 200+80+9 = 289
Aufgabe 3 Aufgabe 4
1. 800+70+6 = 876 1. 300+40+5 = 345
2. 700+90+3 = 793 2. 700+10+8 = 718
3. 500+20+6 = 526 3. 300+ 40+1 = 341
4. 900+30+1 = 931 4. 700+30+1 = 731
5. 300+40+4 = 344 5 700+40+8 = 748
6. 700 +50 + 1 = 751 6. 100+20+6 = 126
7. 100+20+6 = 126 7. 100+ 40+3 = 143
8. 600+80+6 = 686 8. 500+80+3 = 583
9. 300+90+3 = 393 9. 200+40+8 = 248
10. 600+80+9 = 689 10. 700+10+1 = 711
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